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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. The children sings two songs by Schubert at the school concert
2. The children have sing two songs by Schubert at the school concert
3. The children has sang two songs by Schubert at the school concert

4. The children sang two songs by Schubert at the school concert

Correct Answer :-

« The children sang two songs by Schubert at the school concert

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. The teacher have been explaining the lesson for two hours
2. The teacher have been explaining the lesson since two hours
3. The teacher has been explaining the lesson for two hours

4. The teachers has been explaining the lesson from two hours

Correct Answer :-

« The teacher has been explaining the lesson for two hours

3) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Process



2. Preseede
3. Personell

4, Posessione

Correct Answer :-

e Process

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Comprice
2. Compress
3. Command

4, Congratulate

Correct Answer :-

« Comprice

5) DIRECTIONS: Find the word which can be replaced for the given sentence.
An animal that can live on both land and in water.

1. Amphibian

2. Aquatic

3. Terrestrial

4, Carnivorous

Correct Answer :-

« Amphibian

6) DIRECTIONS: Find the word which can be replaced for the given sentence.
One who believes in a single God.

1. Notorious

2. Rebel

3. Mint

4. Monotheist



Correct Answer :-

« Monotheist

7) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘'To make an ass of oneself ‘in
the sentence given below?

Peter drank too much and made a complete ass of himself at the party.

1. to behave in a silly way
2. to behave in a logical or rational way
3. None of the above

4. to remain unaffected

Correct Answer :-

« to behave in a silly way

8) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘dwelling in ivory towers’ in
the sentence given below?

The Philosophers and the Poets dwelling in ivory towers have no understanding
of what is important for ordinary people.

1. None of the above
2. living in grand or luxurious houses
3. having no knowledge or experience of the practical problems of everyday life.

4. having or possessing all the knowledge existing in the world

Correct Answer :-
« having no knowledge or experience of the practical problems of everyday life.

9) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

I can't bear this stifling humidity.
1. endure

2. feel



3. see
4. benefit
Correct Answer :-

« endure

10) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The water was shallow so the kids were perfectly safe.
1. harmful

2. deep

3. transparent

4. poisonous

Correct Answer :-

11) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The museum is full of rare and precious statues.
1. Common

2. unique

3. ancient

4. uncommon

Correct Answer :-

« Common

12) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

Jupiter is (a)/ the larger planet (b)/ in our solar system. (c)/ No Error (d)
1. (a)
2. (b)



3. (d)
4. (c)

Correct Answer :-

13) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

He is a good (a)/ English teacher, (b)/ is he? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

14) DIRECTIONS: Fill in the blank with the correct preposition.
The helicopter was hovering the building.

1. among

2. beneath

3. besides

4, over

Correct Answer :-

15) DIRECTIONS: Fill in the blank with the correct preposition.
She used to hide her diary her pillow.
1. from

2. under

3. of



4. above

Correct Answer :-

« under

16) DIRECTIONS: Fill in the blank with the correct article.
It takes nearly___ hour to reach there by bus.

1. No article required

2. the

3.an

4.a

Correct Answer :-

e an

17) DIRECTIONS: Fill in the blank with the correct article.
rich should help the poor.

1. An

2. The

3. No article required

4. A

Correct Answer :-

e« The

18) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

They were found stealing.
They were arrested.

1. Therefore

2. Although

3. Despite

4, But



Correct Answer :-

« Therefore

19) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

I tried to apologize, he just screamed at me.
1. neither

2. but

3.0r

4. either

Correct Answer :-

e but

20) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

We agreed without knowing what it would cost.
1. ought to

2. ought not to

3. ought not to have

4. ought

Correct Answer :-

« ought not to have

Topic:- General Science

1) A soil can hold very little water is-/ qawﬁagamaaamﬁmm%-
1. Loamy/EﬁTé
2. Parent rock/ SiHd 9gTH

3. Sandy/ dI¢]
4, Clayey/ [ECEll



Correct Answer :-

« Sandy/ dI]

2) Turpentine oil can be purfied by-/ TRUN & dd $T YfSH0T fHaT STaT 3-
1. Steam distillation/ HTU 3HTHI gRT

2. Simple distillation/ ITYRUT AT gRT

3. Fractional distilliation/ THTSI STEa- gRT

4. Vaccum distillation/ ®H qId U ATHdA gRT

Correct Answer :-

« Steam distillation/ HIY ATHdT gIRT

3) Electronegativity of the following elements increases in the order-/ g ol o

fagaa swurar &1 98 9gar B4 3-
.S<P<N<O
20<N<S<?P
3.3.P<S<N<O
4 P<N<S<O
Correct Answer :-

e P<S<N<O

4) The two objects rubbed against each other-/ i fivs T& gk & faeg WIS 91 §-
1. Will lose electrons/gﬁaﬁ'ﬁ@ﬁﬁ

2. None of these/ S8 ¥ ®Is gl

3. Will gain electrons/%’aaiﬁwﬁ

4, One will lose and the other will gain electron/W@ﬁ?ﬂsﬁTQHil sadgTd e Tl

Correct Answer :-

. One will lose and the other will gain electron/ Td WRIT 3R ORI SAdCH UT BT

5) Force of friction is directly proportional to-/ aur g& e TuruTh g -



1. Weight/ R
2. Area/ &3 d
3. All these factors of the moving body/Wﬁ%'ﬁHﬂ-ﬁWW
4. Size / PR

Correct Answer :-

« All these factors of the moving body/ @M a¥ & 39 Il HRPI IR

6) Pollen grains are produced in-/ TRNTHU 39 gid 8-
1. Stigma/ CIGCAPE]

2. Filament/g_,?lﬁﬁ

3. Style/‘qﬁwﬁ

4. Anther/TRTT S H

Correct Answer :-

« Anther/TRTT HIYH

7) The force you will use to collect the iron nails scattered on a sandy ground

is—/ & Yalal oTHIF IR fs) g8 die @1 $idl &) Thid $31 | ol 96 Ugad a1 3, 98 8-
1. Magnetic force/ﬂﬁl?ﬁﬂw

2. None of these/ 38 J ®Is gl

3. Gravitational force/ T=c@Ig §d

4. Frictional force/‘ErGfUTaFT

Correct Answer :-

. Magnetic force/ &g §a

8) The duration of the day from the moment the sun is over head today to the
moment the Sun is overhead tomorrow is determined by-/ W@%WWW
TR & 90T ¥ AT 3 U TRy U wR 81 & 9o & qura=RTa &1 fHufRor far s 8-

1. The revolution of Earth on its axis/ qﬁtm&mﬁ’ra&mqmﬁm

2. The rotation and revolution of Earth around the sun/‘éfﬁs TR q@%‘qpﬁﬂ%ﬂw
aRT



3. The rotation of Earth around the sun/ ﬁﬁ%iﬂ'ﬁ GﬁTE[%ﬁ%EIﬁW'UTW

4. The inclination of the axis of rotation of the Earth from its plane of revolution/ q%aﬁﬁ

YU 3{&l & FHbTd gRI
Correct Answer :-

« The revolution of Earth on its axis/ G &T 3Ot 318 TR YO GRT

9) Rhizobium is a good example of-/ IEHITH 33T IGTEIVI 8-
1. Parasitic/ TRoidl BT

2. Symbiosis/ Fgsitdl b1

3. None of these/ S8 I ®I5 T8l

4. Insectivorous/ ®Icgldl &I

Correct Answer :-

« Symbiosis/ Tguital &I

10) The number of essential amino acids for the growth & maintenance of life

is-/ Sfta ® gfs U1 g 91 v & o sifeyard gt el 1w gl
1.8
2.4
3.2

4.1

Correct Answer :-

« 8

11) Bougainvillea grow from-/ Slf3eiar ufvafta giar 8-
1. Layering/ AR
2. Cutting/ &

3. None of these/ gﬂﬁ@[ﬁgﬂ"{ﬂ
4. Grafting/ % Rl

Correct Answer :-



« Cutting/ &I

12) Loudness is the measure of of a sound./ Ugedr @fy ST
PTHIUS g

1. Pitch/ dRd

2. Shrillness/ Wlﬂ, ST
3. Heaviness/ HRIGA

4. Length/F'I'JEi'I'sc

Correct Answer :-

. Length/?*l'WI’sc

13) A bottle containing two immiscible liquids is given to you. These may be

separated by-/ 3 ifigvfta sai ot a1 fafy ¥ gus s 9wd §-
1. Steam distillation/ HTJ HTHdq gIRT

2. Fractional distillation/ THTSIT AT gRT

3. Fractionating column/ THTAT ST gRT

4. Separating funnel/ QUFHRI HIY gRT

Correct Answer :-

. Separating funnel/ GYdHRI HIU GRT

14) A tightened string of instrument produces sound of frequency,

a-/ f&dt are B erge #1 T SR s A SaT IRdA el
1. None of these/ 370 ¥ ®Is Aol

2. Same/ gHIT

3. Lower/ g

4. Higher/ 3=

Correct Answer :-

« Higher/ 3w



How many times greater is the valency of N in NH3 than that of Cl in HCl ?/ NH3

# N T JUISHare HCl ¥ ¢l Taeddr | fba-t AT eiftre 82
1.3
2.4
3.2
4.5

Correct Answer :-

3

16) Which of the following types of mirror is used in the solar cooker?/ qaR

P A FE § A HIH-9 USR &1 401 ST 5 oI 32
1. None of these/ 378 T BIS gl

2. Plane mirror/‘v'lﬂ?i?f?«"chT

3. Convex mirror/G?I?TE{lfUT

4. Concave mirror/ WEQCUT

Correct Answer :-

« Plane mirror/ JHdd <ol

17) Lichens are composite organs, consisting of algae and-/ FI'IE#T, QAqre qUT
_ AfEer s g

1. Fungi/ d&
2. Bacteria/ Sitarg]
3. Mosses/ Ay

4. Protozoans/ EEIE

Correct Answer :-

« Fungi/ ddh

18) Protections from ultraviolet rays coming from sun is provided by-/ ?-131"3%

WRTaTH o & fFrafafaa o @ feasd gr1 s=ma ghar 8-

1. SO,



2. Ozone/ 3\
3. Oxygen/ 3ileRiTSH

4. CO,

Correct Answer :-

. Ozone/ 3N

19) A ray of light which bounces off the surface of mirror is called-/ T® UPHIRI
forzur, gdur &t Idg | TH 3T Tl 7, 39 Ped -

1. None of these/ 318 J ®I5 ol
2. Normal, 3t

3. Reflected ray/WﬁﬁW
4. Incident ray/ 3mgfad fovor

Correct Answer :-

. Reflected ray/ WRrafdd favur

20) The light materials which float during waste water treatment is-/ g uerd

it SrUfRTE 9 SUAR & R AR V&4 2-
1. Biogas/ g

2. Sludge/ PIaS

3. Sewer/H'IF'ﬁ

4. Scum/ Hd

Correct Answer :-

. Scum/ﬁ?[

Topic:- General Knowledge

1) The Kanha Tiger Reserve is situated in 2 districts. Choose one of them from

the following:/ ®T8T cTe R f¥ord 2 forel # Ry g1 Frufafaa & A fed ver &1 993 a3

1. Jabalpur/ SI&elgR
2. Tikamgarh/ S&HTG



3. Chhatarpur/ 9d¥4r
4. Mandla/ Hsdl

Correct Answer :-

« Mandla/ Hedl

2) At which place of Madhya Pradesh is the ‘Tansen Sangeet Samaroh’

organised?/ A Y & ¥ RIM W dFR Wid GHRIG $T S a1 S 872
1. Gwalior/ TaTeiR

2. Chhatarpur/ 9d¥4r

3. Bhopal/ Hard

4. Ujjain/ 3=

Correct Answer :-

« Gwalior/ WIferaR

3) Which famous personality of Madhya Pradesh had written the epic
‘Krishnayan’?/ A% WX & fohd Ui safdad A ‘PwIma= HegTehTeg ot a1 ot At

1. Makhanlal Chaturvedi/mwraﬂﬁacap[
2. Saint Singaji/ Id Rigsht

3. Dwarka Prasad Mishra/ R U1 s
4. Acharya Keshavdas/ ST HRAG

Correct Answer :-

« Dwarka Prasad Mishra/ GRPT UG s

4) Near which river is Madhai situated?/ nsé'mqa&$m@m%?
1. Narmada/ TG

2. Mahi/ |Te!
3. Parvati/ arddt

4. Tawa/ ddl

Correct Answer :-



5) Where has the foundation stone of country’s biggest Global Skill Park been
laid recently in Madhya Pradesh? / A0UeR & fha WM W 819 g1 # fay &1 99 g1
TAiad Rrd urd $ TURRET w6 it

1. Gwalior / TR’

2. Indore / $ER
3. Bhopal/ﬂ-ﬁtﬂﬂ

4. Jabalpur / SdelgR
Correct Answer :-

. Bhopal/'l-ﬁﬂm

6) Indore is the largest city in India according to area. / ?ﬂm%&l‘:ﬁﬂ

SERURAPT__ G gST Ve ¢ |
1.9t /9. i

2. 10th /10-af

3.7t /74

4. 8th /8- gf

Correct Answer :-

. oth o g

7) The famous queen Rani Ahilyabai is associated with the place of:/fawmda It
fgeamars A9 8 Q H9-3 RIE | I=iE 82

1. Khajuraho/@@?@
2. Maheshwar / g%
3. Chanderi / dg

4. Ujjain / I
Correct Answer :-

. Maheshwar/ﬂ%%R



8) Bagh caves are located in the district of?/ Wﬂﬁwm ﬁl@fﬁf@ﬁ%'?
1. Dhar/ YR

2. Raisen/ 044

3. Bhopal/ﬂ-ﬁtl'lﬂ

4. Ujjain/ =i

Correct Answer :-

9) Where is the Hanuman Tal situated? / AT a9 f5rg WM R fRAA 2
1. Bhopal / yard

2. Gwalior / TaTfeRR

3. None of these/ S8 I ®Ig g1

4. Jabalpur / SIdcYR

Correct Answer :-

« Jabalpur / SddYR

10) When was the state of Bhopal incorporated into the Indian Union?/ vare
YRAR 9 § Hd A g3 412

1. June 12, 1950/ 12 S, 1950

2.June 1, 1949/ 1 [, 1949

3. December 15, 1950/15 fa¥sR, 1950
4. December 10, 1949/ 10 fG¥sR, 1949

Correct Answer :-

« June 1, 1949/ 1 91, 1949

11) Which among the following famous personalities was not born in Madhya

Pradesh?/ 5 uftis safdacal & 9 feae =0 aear wexr o =18 g ur?
1. Atal Bihari Vajpayee/ 3icd fogRl areud
2. Chandra Shekhar Azad/ IR 3{SITG



3. Bhimrao Ramji Ambedkar/ HHRTa IHG SFaSHT

4. Vishwanath Pratap Singh/ fay=y gdmg Rig

Correct Answer :-

« Vishwanath Pratap Singh/ fay=ry garg &g

12) In Madhya Pradesh, Deendayal Antyodaya treatment plan was started in

the year:/ 9 W1, dFqaTd 3iciiey SUGR AT fyg ad # 3= g5 It
1. 2007
2. 2004
3.2008
4. 2005

Correct Answer :-

- 2004

13) In 2008, the district of Singrauli was created by separating it from the

district of - / 2008 ¥ RiTRYeh fora &1 fmfor forel Y Siew fvar mar uT |
1. None of these / 370 ¥ PIs Tal
2. Sidhi / Tteft

3. AIirajpur/GdEiI? SN

4, Jhabua / STg3T

Correct Answer :-

« Sidhi/ I

14) How many times has ‘President’s Rule’ been imposed in Madhya Pradesh? /

AU H 3q o fPail IR APl AT 01 T[T 32
1. Two/ al
2. Four/dR

3. Three/?ﬂ:[
4. One/ Udh

Correct Answer :-



e Three/ GGl

15) Madhav National Park is located in the district of -/ mww@nmmﬁﬂﬁﬁ
fRag?

1. Shivpuri/ Rrags
2. Khandwa/ @&dl

3. Dhar/ YR
4. Seoni/ﬁla'rﬁ

Correct Answer :-

. Shivpuri/ﬁlﬁgﬁ

16) The Fair of “Hira Bhumia” is held in the months of:/ “iR31 Y& sraar Fa o
| P A 7 § T 82

1. September & October/ IR 3R 3a¢aR

2. November & December/ 9dsR 3R fddsR

3. October & November/ 3fa¢aR 3R TdeR

4. August & September/ 3TRd 3R RrawR

Correct Answer :-

« August & September/ ST 3R Ry

17) In which year was the first International ODI Cricket match held at the

Nehru Stadium, Indore? / Ag® ¥ fSTH, R # Ugdn SIeRTPIY HISTemE fpde Ag fraad &
ST 3T UT?

1.1982
2.1984
3.1983

4. 1981

Correct Answer :-

« 1983



18) In which of the following districts was the event held to launch the

Narmada Seva Mission?/ mﬁmm%w*mmﬁﬁﬁﬁﬁq—ﬁﬁlﬁ
T BRI BT AT G AT?

1. Gwalior/ TaTferRR
2. Anooppur/ 3{JUYr

3. Hoshangabad/ 8IRITETG
4. Bhopal/ HIaTa

Correct Answer :-

« Anooppur/ 3AJUYR

19) Thakur Ranmat Singh Stadium is in:/ 3T%R YRTd Rig R f$aw wal AT 82
1. Gwalior/ TaTfeiR

2. Bhopal/ T

3. Rewa/ Jfar

4. Jabalpur/ SIg¢T4R
Correct Answer :-

« Rewa/ Jar

20) Which station recently became the first in India to go into private hands?/

HRA PT PI- AT R gTd g1 # Frof g1l & S ara ugar W= a9 71 82
1. Bhopal Main Station/ HIUTel G W

2. Indore Junction/ $&R SaRH

3. Katni Junction/ el Sia=H

4, Habibganj Station/ galer ol &M

Correct Answer :-

« Habibganj Station/ gSteiel &M

Topic:- General Hindi

1) gaeit aielt 3t 8:



1. gdt fgdt & Sfarid

2. foeRt f§dt & aicia
3. o il o 3icia
4. Uit gt & sicia

Correct Answer :-

- gfget gl & siaria

2) YIS U< B
1. hY
2. dgH

3. dagd
4. ST

Correct Answer :-

3) ‘AR’ Vg BT Y T &
1. fIRE

2. JWI Bid

3. g

4. <=

Correct Answer :-

. SR Bio

4) AU UG § AN o
CREI

2. T811
3. HHYRY
4.9G



Correct Answer :-

. HHYRY

5) Fojor & A 8:
1. 07 TR Y

2. U &R GfY

3. o iy

4. fawt <fy

Correct Answer :-

. foof dfy

6) “G&I eg BT YYITAT ¢:
1. gH

2. %

3. 3o I

4. TS

Correct Answer :-

. Jad gl

7) “3ITST T YT BT HTS 3 ITT 8- ITH &

1. ARIRTEDR dIH
2. TORAD i

3. fAyar® are

4. hard® arR

Correct Answer :-

. faymarm® aag



1. ST
2. GRS

3. 3NTd hIcd
4. gufd

Correct Answer :-

o NI Pl

9) ‘Sl @ &1 d TR B} FAfer, SIfid o Ha F SRT- U A 3
1. U 3AABR

2. TAY ABR

3. SffIRIAIRT 3fcibR

4. JHHIMADR

Correct Answer :-

10) IAFAr forad ¥ el 9= arelt wga et @:
1. et
2. gaatt
3. gUat
4, HTeAd!

Correct Answer :-

. Ul

11) ‘HAMAT Vg H T ©:
1. 3ffSr

2.3

3. SRl

4. foran



Correct Answer :-

. 3

12) ‘Demonstrator’ &Il F{a‘?ﬁ TR HIN® I %:
1. B

2. fresie

3. Yadd

4, S 1 h

Correct Answer :-

. Fed®

13) 3T AT YETax BT AT &
1. SIH-GZIH SUET DAl

2. Jad gt

3. YIRaT W1

4. 3M-H $B 7 T/

Correct Answer :-

. Jad gl

14) HHYSRT A YHIRIG AT 3:
1. HYIfdd

2. H&d

3. HYUT G

4. FEHIBR

Correct Answer :-

. 3e[d

15) w%amﬁm?m’-am%:



1. RJFEIY® ST

2. T ga S SR
3. fxITaY® SR
4. AT ga S T

Correct Answer :-

. femmaiy® T

16) frafafea o faaw wreg-gwa =181 3:
1. Sqdaa-fgifed

2. GAAD-URA P

3. I @A- MR

4, Afe-fAda

Correct Answer :-
. UAS-RAD
17) Fafafa i g o &:
1. 3 HHER ST B
2. d YHRITYID 6 33 |
3. 98 MeN Bl
4. " YHAR & T M

Correct Answer :-

. g8 Fefu gl

18) faferfad ¥ g= 3= 3
1. It
2. HTHH

3. 3G
4. IHGd



Correct Answer :-

. Idrdt

19) fufafad & warata Rards wsg-gww 78 &:
1. TB-TR

2. PYU-HUIUT

3. hIH-DPI

4. ¢d-¢d

Correct Answer :-

o DIH-DIS

20) AR T Bt Hfa 3:
1. JRNERT

2. foforam

3. HRAHR!

4. 3o gt

Correct Answer :-

. Jad gl

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series./ﬁi"«’r: é’fﬁé
H@T 4ot | Terd ug 1 PR

7,9, 12, 16.5, 24

1.9

2.16.5

3.24

4.12

Correct Answer :-



2) A rectangular plot has an area of 490 m?2. If the length of the rectangular
plot is 24.5 m, then find the perimeter of the rectangular pIot./WaﬂﬂﬂwﬁEﬁ

P1 &7%d 490 W2 g1 gl A ) daTg 24.5 #1 8, 9 A &1 AT 31d SIfvE|
1. 89 m/89 .
2.98 m/98 H.
3.87 m/87 H.

4. 85 m/85 H.

Correct Answer :-
« 89 m/89 .

3) The age of a father is equal to the sum of the ages of his 5 children. After 15
years, sum of the ages of the children will be twice the age of the father. The

age of father is:/T® fUar &1 g 30 Uig = $t MY & AT P R 81 afe 15 98 918 uiw
i BT 3TY BT AN AT BT 3 BT AT Y oY, <t firem 3t 3y 3:

1. 42 years/42 g
2. 40 years /40 ay
3. 45 years/45 dY

4. 39 years/39 a¥

Correct Answer :-

« 45 years/45 GL

4) The roots of the quadratic equation 20y2 +31ly+12=0 are: /fgara gfieur
20y2 + 31y + 12 =0F YA &:

1.-15,-16
3 4
;. 45

3 4

3, 4 5
3 4
4 5



Correct Answer :-

3 4
. 4 5

5) If x+ y= 12 and xy=32, then what is the value of (x2+y2)?/ﬂﬁ X+ y=12 3R
xy=32 g d (x2+y?2) ST A T g1?

1.24
2. 144
3. 80

4. 128

Correct Answer :-

6) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fadwr: fAfefad uea § yxare® g (2) & I W= o1 34771 91fge?

1+1+1_:r
12 20 30

19
4,38

Correct Answer :-

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAqxr: FAufafad Aol # wsars fog (7) & WM wR @ T Anfye?

13, 16, 21, 28, ?, 48, 61

1. 21



2.16
3.28

4. 37

Correct Answer :-

8) A circular wire of radius 28 cm is bent to form a square, find out the ratio of

areas of the square to that of the circle./ 28 I =1 & T& Tiig R & v Tt g9
SIWSTTAT R, T & TP A g0 & &TEd HT AJUTd JTd P

1.11:14
2.14:15
3.20:21

4,.21:28

Correct Answer :-

- 11:14

9) A sum of ¥370 is to be divided among A, B and C such that
A's share B B's share 3

B'sshare C'sshare 4 Then A’s share (in ) is:/¥370 BT A, B 3R C $ AT ISR
AdhT %Fﬁ BT %Fiﬂ 3

faafva frarsar @ i BHIGEAT  CHIGE 4 ?, Al A BIfeRITR:

1.%120

2.3 90
3.3240

4,100

Correct Answer :-

« 290

10) A sum of money at simple interest amounts to Rs.600 in 4 years and Rs.650 in
6 years. The rate of interest per annum is? /15 AU TR Y 91¢ IYRY T Hi &3 &
600 . B SITa1 & 3R 6 99 91¢ 650 3. g SITdT 8, Y ufaay sarel o1 gT /1 82

1. 4%



2. Not predictable/3Td gl foaT ST qahdT
3.5%

4.4.5%

Correct Answer :-

* 5%

11) If 10% of m is same as 20% of n, then m : n is equal to:/df¢ m #T110%, n &
20% FIAFE A m : n NS &:

1.1:20
2.2:1
3.1:2
4.1:10

Correct Answer :-

12) A train X starts from a place at a speed of 50 kmph. After one hour another
train Y starts from the same place at the speed 70 km/hr. After how much time
will Y cross after starting of train X?/ U& YeIS! X T ®ITH A 50 fHiae & nfa 3
T YIRTY FHRedl 81 Th Ue 916 gl YS! Y Sl R A 70 fhsdi/ae &t nfa & ga=n R
P 3| IS X & T URH B &b fohda THY I16 IS Y ITST X P UR H311?

1. 3 hours/3 Yucl
3 3
2. “4hours/ 49uey
21 21
3. 4hours/ 4ducl
1 1
3— 3-
4. 2hours/ 249uel

Correct Answer :-
1 1
3— 3-
e Z2hours/ Z2d9uer

13) If 36 men can dig a trench of 200 meters long, 3 meters wide and 2 meters
deep in 6 days working 10 hours a day, then in how many days working 8 hours



a day will 10 men dig a trench of 100 meters long, 4m wide and 3m deep./ gfe

36 @R Ufafes 10 GeTFM R 6 T H 200 Hiew @, 3 Hew i 3R 2 ez T @S @
Tod g, df 10 =afda ufafes 8 ¢ S8 7 100 Hiex ddl, 4 Hiex A€t ik 3 A e ars
fra o & @le aPd &2

1. 27 days/27 faq
2. 54 days/54 fad
3.20 days/20 faq

4. 15 days/15 f&d

Correct Answer :-

. 27 days/27 f&q

............. 2n T AATE?

2. 2N
3.n+ 1

4.2 (n+1)

Correct Answer :-

15) If ‘n’ is a natural number then, n (n+1) (n+2) is always divisible by:/ af¢ ‘n’

TS WIPHfad GBI 3,al n (n+1) (n+2) A fFad fyursa g
1.5
2.7
3.6

4.4

Correct Answer :-
e 6

16) If 100 men can do 100 work in 100 days, then 1 man will do 1 work in how

many days?/ df¢ 100 3TeH! 100 FTH FI 100 A A HIA €, at 1 3meHY 1 & &) fraq faat



T B

1. 100 days/100 &=
2. 200 days/200 fa7
3.10 days/10 fad
4.1 days/1 faa

Correct Answer :-

. 100 days/100 f&A

17) If the ratio of cost price and marked price of a shirt is 9:16, and the profit
percentage and discount percentage are the same, then the profit percentage
is: /afe TP HHIS & HT G a7 3ifhd You &1 3UTd HHR: 9:16 §, TUT ATYH Ufa=ma 3R ge
wfar=Ta FH 8 o a1 ufa=rd 3 o1

1. 25%
2. 30%
3.27%

4, 28%

Correct Answer :-

e 28%

18) Find the smallest of the following fractions:/fAafeRaa fi=l d & 9 Bidt fi=
BIGKTE
>
1.6
E
2. 15

29
3. 41

54
4,71

Correct Answer :-



19) Find the largest of the following fractions:/ﬁ?ﬁ@ﬁfﬁﬁﬁm&'@ﬁ-ﬂm
ol

9

1. 26

24

> 89

78
3. 521

63
4. 181

Correct Answer :-

63
. 181

20) A man can completes @ journey in 10 hours,he covers the first half of journey at
21 kmph and the rest at 24 kmph. Find the distance covered? /U AT U ATAT
®1 10 U W GRTFHRaT 3, 3l gt 95 21 fptii/der I aur 2w gff 24 fwt/eer o1 nfa @ aa w=ar
| 99 B TS Ha gl I Hiferg

1. 224 km/224 &t
2. 220 km/220 f&Ht
3. 240 km/240 f&Ht

4. 232 km/232 f&Ht

Correct Answer :-

e 224 km/224 e



